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@ 1-4: For each of the functions and their given graphs below, state the indicated information.

1.

f(x) = 2x*4+5x2 - 18x - 15

Degree: %

Even or odd degree: (O TPV

# of zeros: %

# of x-intercepts: 3

# of turns: 2
7z

Leading coefficient:

Ends same or opposite: OE \9
Behavior as x = - : B X ) <00

Behavior asx > « : Q&Z“)-ﬁo«o

f(x) = x*—2x3 —13x2 + 14x + 24

Degree: E ‘

Even or odd degree: E\lﬁl\&

# of zeros: H

# of x-intercepts:

b
# of turns: 6
Leading coefficient: (

Ends same or opposite: SKME
Behavior as x > - : Hg ) D 10
Behavior as x > o : :{j K )'3 00

f(x) =-2x5 — 5x* + 24x® + 41x2 — 34x — 24

Degree: 5

Even or odd degree: ODD

# of zeros: 6

# of x-intercepts: g

# of turns: L‘\’

Leading coefficient: = L

Ends same or opposite: _C)_PE_
Behavior as x = - : TR

Behavior as x > « : D O




4. f(x) =-0.5x¢ + 1.5x5 + 20.5x* — 43.5x* — 176x? + 198x + 360

Degree: @

Even or odd degree: E/\/l;f\] %
# of zeros:

# of x-intercepts: %

# of turns: E; IR

Leading coefficient: 0.5

Ends same or opposite: § A’ME

Behavior as x > - : Eg )*_3()9
Behavior as x =  : £I X)-00

From what we have seen in the previous examples, we can conclude the following:

The number of zeros is E_/&UAL to the degree of the function

The maximum number of x-intercepts is ﬁ QUN/ to the degree of the function

The maximum number of turns is _4-_ QS_S_ than the degree

The ends of the function go in the S AME direction for even functions and 0 PP OS’ ni directions

® N O W

for odd functions
9. The & |(AN of the leading coefficient tells us if the right-end of the function will go UF or DOU\”4 @

10. A function with ODD degree will always have an ODD number of real zeros.

11. A function with EVEN degree will always have an even number of real zeros, or have no real zeros at all.

12. IMAGINARY/COMPLEX zeros will ALWAYS occur in conjugate pairs. (3 + 4i and 3 — 4i, for example)

13-14: Use what you learned to fill the indicated blanks for the polynomial functions below, /?/' Ferm ’

= Degree: (,\M\f % » Degree: r(’\
V

= Even or odd degree: E\IEN = Even or odd degree:

= # of zeros: § ) = # of zeros: ' Z
=  max # of turns: "I =  max # of turns: (;_9

* max # of x-int.: 6 *  max # of x-int.: f Z

* Leading coefficient: l = leading coefficient: - Z S

* Ends same or opposite: SPIME = Ends same or opposite: OE P,

» Behavior asx = -o : -E( 5;2'9 fpO | = Behavior as x = - : —ﬁ & 29'17’9

= Behaviorasx > «: *EC)(.Z*? 100 | = Behaviorasx >  : 12(1&2"') 0
= Possible number of imaginary zeros: 01 Z[L'{!fo, % =  Possible number of imaginary zeros: O z l_‘f b 9
l

= Minimum number of real zeros: O 'Zqﬁ (p % *»  Minimum number of real zeros:

13. f(x) = x® + X 7+ 6x6 — 5x* + 3x - 2 14. f(x) = 3 —-2x*+ 7x?-3.5x + .'2.5><3 5x5
_opp




